7o 10 Frie F opgelf orgt vT-gRas & #% FH FdrT siloqHodio T VA% % FH% § fad #V & A éflo THo diRo
FT % 7 FeT-gRawr & #% F7 & a d% orhers & FdaT #W@ JeT-gRawT T

Level : 3 Exam. - 2021
PGT : For Lecturer CHEMISTRY
(Sub. Code No. : 316 | -G T O SMoTRoATTo

Question-Booklet Serial No. & O. M. R. Serial No.

st (arat %)+ [ ]

Roll No. (In Figures)

RIS (9= H) ¢

Roll No. (In Words)
Tl &= B AH

Name of Examination Centre

et AW Il B TEER :

Name of Candidate Signature of Candidate

[W s-gRe 7 gt A den 4g | T W T 150 ikl 2% hours ]

No. of Pages in this Question Booklet No. of Questions Time

friiss & WRR (Signature of Invigilator) :

et & 10 fre & g9 ge-QRaH W 89 PR 1 Ue qo SR T § o ReRer e & e R sem af ge-gRaw 9 SR o H
F HEA T Sk B @1 I w ot 8 Maed e IeT-Raw Saa #1 Sg UsEr i e ©eR e B sem 39 10 Bl &
AR, Sefl % IR b F B U T 2% €S B qE A onem IR i A ym-Rem A R M AR Aym A M PR W A
WE & A D R sraiE B e aiy & SR Sae 3 & g ot R sem o st FeiRa o & /M 59w S
gfaeT 9IS FEied & T AT T ¢l §9 A & 9%, 39 ey § 09 SReeT W HE R T8 R smem

[ aR Rl o & R 9 oSN T & R & A ofdiol TeEw & U S WA ST j
If .

there is any variance between Hindi and English Version of any question then English Version would be considered correct

IRGt $ T Y INSTRUCTIONS FOR THE CANDIDATES) :

1. SNCH.AR. IR T 38 T-GRH & S W@ ol o A0 ST-GReH T H el o, A IR T (e B AN { D
T T ERe ¥ & fEwr W (The OMR Answer Sheet is inside this Question Booklet. When you are directed to read the
Question Booklet, take out the OMR Answer Sheet and fill in the particulars carefully with black ball point pen only.)

2. TlET H AR 2% €@ R Ud UgHGRAH H 150 U 2| WS FOUGT SFT Tl 81 (The test is of two-and-half hours
duration and consists of 150 questions. There is no negative marking.)

3. T faaRer oifFd & Td IR TF W FIH T & o daa w9 9me 3 F@E BR A= geT-gRaw @ SwEm

Td ST TF B WA H GE@YM! XAl (Use Black Ball Point Pen only for writing particulars on this

page/darkening responses in the Answer Sheet. The candidate should remain careful in handling the question paper
and in darkening the responses on the answer sheet.)

4. 599 10 foee ¥, 7 o ghlved &R o R ue-gRasw #His ofR IR Wb HHi% Th & & oFR I8 R & A sl gad
Hﬁﬁ-m R W ©F a9 & U waes @ O AGTT BN (Within first 10 minutes, also ensure that your
Question Booklet Serial No. and Answer Sheet Serial No. are the same. In case of discrepancy, the candidate should

immediately report the matter to the Invigilator for replacement of both the Question Booklet and the Answer Sheet.)
N

~

5. qaA-3 (‘JIEFR‘H ® ﬁﬂ) 5. Level-3 (For Lecturer)
-1 9 faeE g e g (So 1§ Yo 30) Part-I : Child Development
qE-1I : W (l;[o 31 § Yo 60) and Pedagogy (Q.1t0 Q. 30)
@ﬁ . 15 us T SNl : 15 H-‘FT) Part-II : Laf1gujage. . (Q.31to0 Q. 60)
(Hindi : 15 Q. & English : 15 Q.)
-1 : R S (o 61 & %o 90) .
3 = ; Part-IIl : General Studies : (Q.61to Q.90)
< ‘ : ;;lr%g;jr’ 10 ) F105, (Quantitative Aptitude : 10 Q, Reasoning
RURICIER] 1058 Ability : 10 Q, G. K. & Awareness : 10 Q)
L HA-IV = XE ? (1;{0 91 § %o 150) Part-IV: Chemistry (Q.91to Q. 150) )

e : g m & o ¥ Ry Ay R A Wi (Please read other remaining instructions given on the last page of this booklet.)



% %4 3 T (FOR ROUGH WORK)




[3] [A]
ART-I (PART -I)
91 {9 9 AR (CHILD DEVELOPMENT AND PEDAGOGY)

3T : R g7 % a7 &7 & [ qag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

1. T s TOE fhed S ¢ 1. Who developed the first intelligence
test ?

(1) [aX (1) Lavator
(2) (2) Sanguin
(3) wI~ad e (3) Francis Galton
(4) oTehs fom IR OEEe (4) Alfred Binet and Simon

2. TSN H T S TS HAFAT B 2. A branch of psychology which
T & am "ﬁ Siiaehid | iR, studies how people change physically,
HeMTs AR A &9 8§ 3A cognitively and socially over the
I5Ad &, PHeawl 8 ¢ entire life span is known as :
OREREREICE] (1) Clinical psychology
(2) WA AR (2) Counselling psychology
(3) foepraTeTs FRIas™ (3) Developmental psychology
(4) FARTHS FAIST (4) Experimental psychology

3. fefoReg & 4 DAl ST 3. Which of the following is not the
ER® 78 B ? innate motive ?
(1) guem (2) ™ (1) Safety (2) Hunger
(3) 9™ 4) fagm (3) Thirst (4) Rest

4. T8 O FE & “ThANERr I9m, 4. Who stated that "Adolescence is a period
o, oM oY Pl SFaeR 37 7 of stress, strain, storm and strife" ?
(1) faferaw wgo @9 (1) William H. Barton
(2) & B (2) Stanley Hall
(3) Slo To SIS (3) J. A. Hadfield
(4) S9 fEs (4) Jean Piaget

Level-3/316 P.T.O.



[A] [4]

5. f=fafed § ¥ d9-01 W g WA 5. Which of the following is the highest
fere |iarwent Rs=T &l I=aad &K level in hierarchical theory of
g7 learning given by Gagne ?

(1) 991 991 e (1) Problem solving learning

(2) T At (2) Principle learning

(3) 99 3T (3) Concept learning

4) E@%ﬁﬁ SR (4) Multiple discrimination learning

6. fefeifad & @ V- A A= 6. Which of the following is the non

P TR THD © 7 projective. technique of personality
measurement ?

(1) g oty (1) Association technique

(2) FENIHCE T (2)” Sociometric technique

(3) & ufafy (3) Construction technique

4) E[ﬁ EIGIR] (4) Completion technique

7. fffad & @ SHF-A1 oR® HHE® IZ. Which of the following is not the
W H T & e 7 characteristic of good mental health ?
(1) qidfes aRYead (1) Emotional maturity
(2) STTATGIaTd (2) Self confidence
(3) HAFSHEFT (3) Intolerance
(4) STIH EI\RIFFT Bl &l (4) Capacity of self evaluation

8. ffifag & 4 SH-A1 U™ SiF 8. Which of the following concept is
s = o H@eHes o Riem not introduced by Jean Piaget in his
¥ g ? Cognitive Development theory ?

(1) SAHETABIT (1) Assimilation
(2) TSI (2) Accommodation
(3) diblii®s (3) Symbolic

(4) | (4) Equilibration

Level-3/316



9. fr=ifeiad & & PM-A1 T = aRkA
% faee & &9 ¥ S 3a 3N
fraiftg =xon @ 78 ' ?

(1) 3TuRepd Ha Tl & =)
(2) ASIMEE B I
(3) ATHTHE TR0

(4) TRURE T & ATET

10. NS M & AEIS-Ais
fRrsid & o & & ?

(1) Si9 s

(2) I T

(3) w4 A

(4) BrEATT

11. FHefag & @ s9-d ek qme
3 vt ufafy 78 2 °?

(1) I Tl qqeer

(2) 9599 I AR & T
(3) @R g e

(4) FE FHaFs g

12. Fefofed & & HN-@1 ®ed &N
gfuiied Al & TAHS [AATH B
TER 78 T ?
(1) s¥gh
(2) di=F =1
(3) @ wE
(4) Sgard

Level-3/316

[5]

9.

[A]

Which one of the following stage is
not prescribed by James Draver in
the
character ?

context of development of

(1) The stage of crude emotion
(2) The stage of sentiment
(3) The self regard stage

(4) Conforming conventional stage

Who was-the founder of socio-culture
theory.of eognitive development ?

(1) Jean Piaget
(2)" Jerom Bruner
(3) Lev Vygotsky
(4) Kohlberg

11. Which of the following is not the

type of projective technique of

personality measurement ?

(1) Word Association Test

(2) Woodworth's Personal Data Sheet
(3) Sentence Completion Test

(4) Thematic Apperception Test

Which of the following is not the
type of dynamic trait of personality
given by Cattell ?

(1) Attitude
(2) Urge
(3) Sentiment

(4) Conservative



[A]

1

g g @ % U Swh SETE
gl (e AR 8 Tehal & 7

(H)28F 5
2)0F4ad
(3) 16 ¥ 18 a9
(4) 39 10 a9

frfafed & & M-8 paNEen Hi

fagwar 78 ® ?

(1) HeRfReE @ 9% g7 9K F 9%
& 20% Bl 2|

(2) = 3= @t wgiy sgdl o

(3) IEHIT TG AT B
(4) IFES IFFaE ST IRH °MT
W Igd SRH B

frefofeg & @ ®9-8 IRERT &t
o7y faQwar ® ?
(1) IpRer d§ &R & FEER

AEIEl 2 8|
(2) ARMIRT Fger YA i 2

(3) ARBRG HIER & Wi HOR
Bl Bl

@) AP TgE F S qREdA
FHA Bl

BIhE-foH e @ & AgER
o7 HMEE  Hedl awd bl bl
gfsater € & et 8 7

(1) 529 67 (2) 369 51

(3) 209 35 4) 209 9=

Level-3/316

[6]

13.

14.

15.

For which age group the Children
Apperception  Test (CAT) is
applicable ?

(1) 2 to 5 yrs.

(2) 0 to 4 yrs.

(3) 16 to 18 yrs.

(4) 3 to 10 yrs.

Which of the following is not the
characteristic of Adolescence ?
(1) Weight, of muscles is 20% of

total weight of body.
(2)Tendency of day dreams
increased.

(3) Vocabulary too increases.
(4) Mental abilities reach at their
highest level.

Which of the following is the false

characteristic of motivation ?

(1) In motivation, behaviour of
person is goal oriented.

(2) Motivated

continuity.

behaviour does

(3) Nature of motivated behaviour is
rigid.

(4) Motivation does energy changes
in human beings.

to Stanford-Binet IQ
scale, what is the IQ range of low

According

mentally retarded children ?
(1) 52to 67 (2) 36to 51

(3) 20to 35  (4) below 20



17.

g & YA fsid & iU B
g7

(1) % 9

(2) BeFgTRA

(3) B W
(4) So V- &

fr=ifofeg & & H9-91 t% omeEal @l
faQroarett & det § 7o e R ?

(1) e fafdre R & @ @
yiafshar 2

(2) A AR H B & S
2

(3) STed oTed qXE q diEr Y& 2

(4) AR ®ad U GRRYRET e
W WERE B El

fr=ifofeg & @ S9-a1 Rrsra oTfem
® IO REra o gwetad 78
g7

(1) AHYS g & T
(2) W gt & s

(3) TN a9d @ S

(4) I @l RS

Level-3/316

[Z]

11.

[A]

Who the
Anticipatory theory of play ?

was propounder  of

(1) Karl Groos
(2) McDougall
(3) Herbert Spencer

(4) G. Stanley Hall

Out of the following which one is
the wrong statement in context of
characteristics of habits ?

(1) Habit is automatic response to
specific situation.

(2) Habit 1s acquired through
heredity.
(3) Habit is a well Ilearned

performance.

(4) Habit is performed only under
similar circumstances.

Which of the following theory is not
related with the theories of transfer
of learning ?

(1) Theory of mental discipline
(2) Theory of rote memory
(3) Theory of identical elements

(4) Theory of generalisation



[A]

20.

frefefeg & @ d9-91 IHSEd @
qrede ST & o/ ™ 78 & ¢

(1) IEIush FfshaT T
(2) M H §Y s

(3) TS Srfehan &1 s
(4) FE wd e B s

21. frefdiaa & & @A Sy

TS &1 SAGeTRE gRehor & 7

(1) A FIER T &AM Hisd HA ol

(2) €I foRaTatl X &M ahivsd
T B

(3) S Teel W BHi=d &

(4) J6Y [EBE H AT T H5d o

22. fFr=fofed & & @9-a1 & gavard

3 faQwareT & et § 7T Fud B 7

(1) ey St 8l 8

(2) Javgra Sgd SRRISTe-rd ol
(3) gavgh v Bl ol

(4) YR ARG @9E ol

far, ol @9, 9w iR o= 3=
uHeE WA § 0 S[El AN
TiafafeE @ wer S R

(1) 37 =H
(2) |5

(3) IuI™
(4) wE@/aTE

Level-3/316

[8]

20. Which of the following is not the

other name of Thorndike's theory of
Connectionism ?

(1) Stimulus response theory

(2) Bond theory of learning

(3) Theory of conditioned response
(4) Trial and Error theory

21. Which of the following is behavioural

perspective of modern psychology ?
(1) Focuseson overt behaviour.

(2)7Focuses on cognitive processes.

(3) Focuses on the biological events.

(4) Focuses on critique of male bias.

Out of the following which one is
the wrong statement in context of
characteristics of instincts ?

(1) Instinct is innate.
(2) Instinct is very powerful.
(3) Instinct is ephemeral.

(4) Instinct  is
disposition.

psycho-physical

The mental activities associated with
thought, decision making, language
and other higher mental processes is
called :

(1) Visual images
(2) Cognition
(3) Concepts

(4) Propositions



24. FHfag & @ -1 N 9T

g7
(1) STfeFM s gfkar & 9 &% Sl

(2) A uRRE W IERYE el
2l

(3) SIF™ 1 8 @9E B B

(4) TEwaRy wd wfody Bt $ aw
BN 99 FEeR & URgad o
A A S 2

25. f=ifiigd & 9 dH-a1 Jo dio Frwe

N e g & RiatE aew & o
e favaas] H YER T8 © !

(1) TP
(2) geat
(3) Hihich
(4) ARG

Frefafad & & sF-a1 @ & dw

H e dAlehes FH ©

(1) M — g7 TR — R —
REEIN]

(2) §T: X — AW — gRT —
REEIR]

(3) HARFM — JF: TR — FEEaH —
IR

(4) HARFM — gRT - G TR -
EEEIN]

Level-3/316

[91]

24.

25.

26.

[A]

Which of the following is the false
statement ?

(1) Learning is a process not a
product.

(2) Learning process 1is always

purposeful.
(3) Area of learning is broader.

(4) Behaviour through
instincts and reflex actions are

changes

alse considered as learning.

Which of the following is not the type
of one of the component content
under three dimensional model of
intellect given by J. P. Guilford ?

(1) Figural

(2) System

(3) Symbolic
(4) Behavioural

Which of the following is the correct
logical order of elements of memory ?

(1) Learning - Recall —
Retention — Recognition

(2) Recall -
Retention — Recognition

Learning -

(3) Learning - Recall —
Recognition — Retention

— Retention —
Recall — Recognition

(4) Learning



[A]

21.

oLt & Q9T T Hasd & g
qRass I8@Y [ R AU e
fopam o ?

(1) =4
(2) W
(3) Sitea
(4) e

Frefcfed & & @9-@ & &
qHE ol B Npem H Gl
T 78 ' 7

(1) T Sfefseand
(2) T

(3) SR

(4) ST HHM

29. Hffad & @ B9 &1 d9-@ &

T gEarl R g@ Wik & 91
foarat = FRRE B e?

(1) 39
(2) o1&Yq
(3) T 9Teq

(4) T srpfer
Ty [y & S B & ?

(1) Sio o Jredas
(2) faweew goe
(3) f&mTE wEs
(4) So THo Fhed

[10]

21.

28.

29.

30.

Who propounded Brain storming
method for fostering and boosting
creativity ?

(1) Torrance
(2) Myres
(3) Osborn
(4) Gordon

Which one of the following is not
correct way of releasing pent up
emotional.energy ?

(1) Substitute responses
(2)- Displacement

(3) Regression

(4) Self pity

Which of the following structure of

mind  directed  according to
Hedonistic and pleasure principle ?
(H 1d

(2) Ego

(3) Super Ego

(4) Choleric

Who was the propounder of psycho-
analytical method ?

(1) J. B. Watson
(2) Wilhelm Wundt
(3) Sigmund Freud
(4) J. M. Cattell

Level-3/316
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[A]

[T - II (PART - II)
A1 (B g 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % Go7 &7 & [T qag ST [dwey g

31.

B qEE gD
JETET & ?

(1) g @ forn, 38 9 qEei

(2) it & TN Hg TG e B

(3) ¥ w9 fe T, o qer
TR H&|

(4) S GI9-TEET S

T H

32. ogfad fadm 9= FW gHE o
TBY

(1) fafyr — feg
(2) @@ — oo
(3) o — 7
(4) I — By

33. T Ye Yo @R SRR @ o

ardf ® ¢

(1) 399 B | I a0

(2) 3@ § gel W) q g
(3) HAG¥H R BT

(4) TEEEN T Tl

1 & & gaf § g o= -
g7

(1) g + ReX = gfafax

(2) T& + JURY = JA9EA

(3) S + W = AT

(4) T + Y = TAEAT

Level-3/316

35.

frafafag af & ded § PW-
forepeq oI ® 7

(1) I — dered, FUel, 99

(2) § — e, g6, Fgagal

(3) 9 — 3z, =Y, FYT

(4) Y.~ gE, ST, T

36. WOI.H g q ogAfia faEea @

T T
(1) ARMT = AR + 3
(2) adH = qEF + 7

(3) UEd = 9 + 7
(4) Mg = ot + 7

37. Iuq @ fffg o=t & dad § d9-a

e o7 & 7

(1) 9k — s, qiRwies, gy
(2) AT — YR, AN, HAELTR
(3) ¥ — g, FRBR, AT
(4) "fer — ot Site, S

38. YE-VH W IR W FHIT FH GAC

(1) Tl — qe 9
(2) e — A IR
(3) 99 — TT I

(4) TEHITER — & =



[A]

39.

-l @ e | FE-ar 9w

FTGTTR ?

(1) gHE — YA B HIA arel

(2) AR — W H g g AR

(3) aga® — I A F T

(4) EMT — @S ) @Ak
EISIRCH

40. 1 ¥ ¥ @77 [TH TEEy ¢

(1) 9™ — 7= 9 Sfia aaares
T3l

(2) o — gdem | FiHd AeaEs

LSEll

(3) ARN — wrears |1 @ Sifg
farQiyor

(4) i — faquer | g
CIEEICEAE|
41. gﬁﬁg&ﬁ%—mm%ﬁ
?

(1) G g G — & &l S

HEAT

(2) ST e THT @ AT —
SEE B qX SAfoor BT

(3) TR T H I — THAH e

(4) BT F Ge ® A6 4 b —
SIFERTSITCH T ST BT

[12]

42. ‘gF e Gaar 3 IHd A @l

FHHar H T

(1) @A fohehe Tl

(2) G Frbe & S 2

(3) ®ieM 9§ Fhbe Sam S o
(4) |F & a} Brbe Qe S Bl

43. 1 & & foom famew & &+ Bramd

‘IFRHE T 7

(1) Iy, GEhTHT, e
(2) 3T, Te, foe
(3) &1, &M, |

(4) T, IS, e

44. IH T G H DA T gAr

7 &7
(1) 3= | T3 R B
— feiicsTas
(2) ¥ A F1 F& TE A
— Feygs ae
(3) & Tl & a8 ST S &l 37T
— ZT/EITS q
(4) T T A9 B AT @ @I
— Hhars ared
45. ‘TG, A, MG U= Fhgeh wHgdrE
g7
(1) el (2) T=X
(3) Hoh (4) e

Level-3/316



3Rl (ENGLISH)

[13]

[A]

Direction : Answer the following questions by selecting the most appropriate option.

46.

Choose the correct option :

Transformation from Simple

sentence to Complex sentence :

A lost moment is lost forever.

(I) A moment which is lost is lost
forever.

(2) A lost moment is forever lost.

(3) Forever a lost moment is lost.

(4) No moment is lost forever.

Choose the correct option :

Transformation of sentences : Simple

to Compound

He must work hard to make up for

the lost time.

(I) He must work hard, cover the
lost time.

(2) Making up for the lost time he
must work hard.

(3) He must work hard and make up
for the lost time.

(4) Working hard will make up for
the lost time.

Select the correct conjunctions for
the blanks :

We will come ........ it rains ......
not.
(1) if, and (2) even, but

(3) whether, or (4) either, and

Choose one word substitution for the
following :

A word spelt and pronounced similar
but differing in meaning.

(1) Antonym (2) Homonym

(3) Synonym (4) Pseudonym

Level-3/316

50. Change the following sentences into

Reported Speech by choosing the

correct option.

"If you want to smoke you'll have to

go upstairs." said the landlord.

(1) The landlord told him that if he
wants to smoke he'll have to go
upstairs.

(2) Therlandlord told him that if he
wanted to smoke he would have
t0.go upstairs.

(3). The landlord said that if he
would want to smoke he would
g0 upstairs.

(4) The landlord says if you wanted
to smoke you would have to go
upstairs.

Change the following sentences into
Reported Speech by choosing the
correct option :

"We're waiting for the school bus,"
said the children, "It's late again."

(1) The children told they're waiting

for the school bus and it is late.

(2) The children said they were

waiting for the school bus and it
is late.

(3) The children complained that
they were waiting for the school
bus and it was late again.

(4) The children complained that
they were waiting for the school
bus and it is late.

P.T.O.



[A]

52. Change the voice from Active to

Passive. Choose the right option :

We shall discuss the
tomorrow in the meeting.

question

(1) The question will be discussed
tomorrow in the meeting.

(2) We will
question
meeting.

the
the

be discussing
tomorrow  in

(3) We shall be discussing tomorrow
the question in the meeting.

(4) The question shall
tomorrow in the meeting.

discuss

53. Choose the option which has error in

it :

(A) You should

(B) tell to me

(C) exactly what

(D) happened there

() A (2) B

3) C 4) D
Select the correct preposition to fill
in the blank :

They live ........ the same roof.
(1) in

(2) before

(3) after

(4) under

Select the correct meaning of the
underlined phrasal verbs :

I cannot make out the meaning of
this verse.

(1) discovery

(2) understand

(3) reading

(4) start

[14]

Choose the correct form of tense

given in the option :

She (play) the sitar since 6 o'clock

this morning. He just (stop).

(1) playing, stops

(2) was played, stopping

(3) has been playing,
stopped

(4) have been playing, stopped

has just

51. Choose the correct meaning of the

underlined idiom :
He is friendly to the minister, he
jumped the.queue and got promotion.

(1) _replace something

(2). hopping

(3): blame somebody

(4) get something out of turn

Select the correct preposition to fill
in the blank :

He broke the jug ....... a hundred
pieces.

(1) in (2) into

(3) over (4) about

Select the correct infinitive form of
the given sentence :

Seeing is believing.

(1) To see is to believe.

(2) Seen is to believe.

(3) To see is believing.

(4) Seeing is to believe.

Select the correct tense form :

The car (belong) to my mother. She
(use) it today to take Tom to the
dentist.

(1) belonged, is using
(2) belonged, using
(3) belong, used

(4) belongs, is using

Level-3/316
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[A]

AR - ITI (PART - III)
9MY 374 (GENERAL STUDIES)

B ARG, i STEHT T8T 9T S U9 SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G. K. & AWARENESS)

3 : e 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

frdl MiRed f § MONKEY &
XDJMNL fa@n s, @@ TIGER &t
39 feren s ?

(1) SDFHS
(2) SHFDQ
(3) QDFHS

(4) UJHFS

62. 7T frar Mimd Yot & 9 * 3 = 36,

10 %6 = 64,9 * 1 =25, ar & Ue
UX 23 * 3 1 {41 BT 7

(1) 169
2) 52
3) 32
4) 576

63. M 1988 H 15 SR I & FE0

T oor, @ g8 1989 # fR R A
Ty Y

(1) |Far
(2) HIEER
(3) TvaR

(4) PHAR

Level-3/316

61.

In a certain code MONKEY is
written as XDJMNL. How is TIGER
written in that code ?

(1) SDEHS
(2)~-SHEDQ
(3) /QDFHS

(4) UJHFS

62. In a certain pattern, if 9 * 3 = 36,

10 * 6 =64, 9 * 1 =25, then in same
pattern what is the value of 23 * 3 ?

(1) 169
2) 52
3) 32
4) 576

63. If the Independence Day in 1988 was

celebrated on Wednesday. On what
day was it celebrated in the year 1989 ?

(1) Monday
(2) Tuesday
(3) Thursday
(4) Friday



[A]

64.

o SR @ oiX 10 fEdt =@ @
T2 § 6 U RO # X Twar ®
3% A 3 fdl @ & Y =
3l 9 98 AU RN fg @
feper ot e fe Ram H 2 7

(1) 5t qfeem
(2) S foprit SR-gd
(3) 7 @

(4) 7 et uidem

65. U RF-RT T A 9§ E, T Uiad #

R 81 A, B &t R B ARE, C
% S SR & O A & 3t &R
B, D & T &R B HN-1 8X UhaH
qe { R ?
(1) A
3) D

2) B
4) E

deiedl @ Th Ul § R & e
S § 8a1 & ol O & &N i |
1741 ¥ 3T J YU TN STEd-95d S
o e 9 9 143 WN W e S
R Uk & g feae agfer § 7

(1) 27
(3) 32

(2) 29
4) 30

0.3467 +0.1333 GHM &R :
(1) 0.48

(2) 0.4801

(3) 048

4) 0.48

Level-3/316
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64.

Vijay walks 10 km towards North,
from there, he walks 6 km towards
South, then he walks 3 km towards
East. How far and in which direction
is he with reference to his starting
point ?

(1) 5 km West

(2) 5 km North-East

(3) 7 km East

(4) 7 km West

65. There are five different houses A to

Eintatow. A is to the right of B and
E-is to the left of C and right of A. B
is to the right of D. Which of the
house is exactly in the middle ?

(H A (2) B

(3) D 4) E

In a row of girls, Shilpa is 8th from
the left and Reena is 17th from the
if they their
positions, Shilpa becomes 14th from

right, interchange

the left. How many girls are there in

arow ?
(1) 27 2) 29
(3) 32 4) 30

0.3467 +0.1333 is equal to :
(1) 0.48

(2) 0.4801

(3) 048

(4) 0.48



68.

& el H ST U8 S BT

127, 128, 136, 163, 227, ......
(1) 352 (2) 350
(3) 357 (4) 341

69. AT A H o ‘N, B H o

‘gerg’, C & 3 ‘g, D & otk
U &, @ e B AR AW
1 B ?

IS8A12C6D2BS5 =
(1) 25 (2) 27
3) 15 4) 17

A & T ER gEe § g g e
Hl S BT

a —cdaab —cc —daa —bbb — ceddd
(1) bdbda
(2) bddca
(3) dbbca
(4) bbdac

711. B @ & oWga ok aRdd &

Bl 1 ST BT

(1) 1:4 (2) 4:1

3)1:2 4 2:1

11, 11.11, 0.11, 0.011 I HoH¥oYo
BT ?
(1) 0.011
(3) 0.11

2) 1.1
4) 0.111

Level-3/316
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68.

[A]

Find the next term of the number
series :

127, 128, 136, 163, 227, ......
(1) 352 (2) 350
(3) 357 4) 341

If A means 'plus’, B means 'minus’,
'divide by,
Then
simplified value of
18 Ad122C 6 D2 B 5 =?
(1).25 (2) 27

(3)15 4) 17

D means
be

C means

‘multiply'. what  will

Find the missing letters in the given
letter series :

a —cdaab —cc —daa —bbb — ccddd
(1) bdbda
(2) bddca
(3) dbbca
(4) bbdac

71. The ratio of the areas of the incircle

12.

and circumcircle of a square will be :
(1) 1:4 (2) 4:1

3)1:2 4 2:1

What is the HCF of 11, 11.11, 0.11,
0.0117?
(1) 0.011
(3) 0.11

2) 1.1
4) 0.111



[A]

13. =il ue § dean fed Mived

Yod W iR ofar war fomd
g &l 39 Yod & TEE @R g

g e (vearas f¥ed) S| S
6 11 | 25
8 6 16
12 5 ?

(1) 18 (2) 16

(3) 12 4) 10

& AT 132 HieX ug 108 HieX
Il TR 4 foes R § o @
g Prad 8 @ @ 3 32 Reiever
q g # 40 RElATa B R
q § 9 TH-GAC Bl TR HT STET 7

(1) 8 Qo
(2) 10 Ho
(3) 12 ¥o
4) 11 Ho
A 7 955 7 HAA A 8 g H

wbd ¥ A, 70 T8 70 HRIA F TN
¥ fpam goe e ?

(1) 8gve

(2) 560 g
(3) 56 °%C
(4) 70 gue

Level-3/316
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13.

The numbers in the following question
numbers are written according to
certain pattern row-wise or column-
wise. Identify the pattern and find
the missing character accordingly :

6 11 25

8 6 16

12 5 ?
(1) 18 (2) 16
(3) A2 4) 10

Two trains 132 meters and 108
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 40
km/hr. In what time will they cross
each other ?

(1) 8 sec.

(2) 10 sec.
(3) 12 sec.
(4) 11 sec.

75. If 7 carpenters can make 7 chairs in

8 hours, how many hours will 70
carpenters take to make 70 chairs ?

(1) 8 hours
(2) 560 hours
(3) 56 hours
(4) 70 hours



16. T 9% & A 20% I S 8, A

AR fhHl SUHAET FW AU IIHA
g foha wfaed @ FH B @ I F
SH% @9 § &g ga el of !

2 2

(1) 162% (2) 152%

3) 17%% 4) 16%%
2«2@ &1 A FT BT 7

(1) 0 2) 2

3) 1 4) 2%1/%

% 10,000 =pgls &1 & &9 H 5 a9
T A & 9 8, @ 20 9§ 9¥E
S wepgfe &S @ W ¥ T’ O
fepereT & S ?

(1) % 40,000

(2) T 60,000

(3) ¥ 80,000

4) % 1,60,000

AT B3 91 10% a9 § 39 & 3K B

T CH10% & § 59 & g CH

g3l & o4 % 990 IHAT &, A FR. A
- 39 Sl @l fobe @l o ?

(1) 2900
(2) % 1,000
(3) 1,200
(4) %950

Level-3/316
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16.

[A]

The price of any item is increased by
20%.
consumption of the

Find the reduction in the
item by a
consumer so that there is no increase
on his expenditure :

2

(1) 16%% @) 152 %
3) 17%% 4) 16%%

71. What is the value of 2\/27 V2242 ?

(1) 0
MM

(2) 2

(4) 231/ 32

A sum of ¥ 10,000 deposited at
compound interest becomes double

after 5 years. After 20 years the
amount will be :

(1) % 40,000
(2) % 60,000
(3) T 80,000
4) % 1,60,000

79. A sold a watch to B at a gain of 10%

and B sold it to C at a loss of 10%. If
C paid X 990 for it, then how much
amount paid by A ?

(1) 2900
(2) 1,000
(3) 1,200
(4) %950



[A]

0.

2: 5 STUN drcll S S § -l
& SiEl o 6 oua geen @

YU 5: 68 & ?
(1) 12 () 11
3) 13 4) 14

‘RO’ ATE GRET BT TR AT
ST B
(1) a1 G e @9 gR/

(2) BRAT Ao STREH! &RT
(3) BRA™T G&pd HBEH &R
(4) BRAmn & g9 st 3

82. ffoiad & & M 2021 # ‘9gH

T A<Tbdt & 7
(1) ST FEE Nad
(2) dt= fHe

(3) T T4

(4) Y g

83. T/ &l ffved ivTg, fSad/ o

qMER H ST Al §
(i) sHaRd

(ii) = A B AET A
(iii) Ty

(iv) IR

7& HE F T HIT
(1) e (i)

(2) (i) &R (i)

(3) (), (i) 3R (iii)

@) (), (i), (iii) 3R (iv)

Level-3/316
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80. Which number must be added to

each term of the ratio 2 : 5, so that it
may equalto5:6?

(1) 12 ) 11

(3) 13 4) 14

81. Monthly magazine 'Hariprabha' is

published by :

(1) Information and Public Relations
Department

(2) Haryana Sahitya Academy
(3)Haryana Sanskrit Academy
(4) Haryana Hindi Granth Academy

82.1 Who among the following is the

recipient of 'Padma Bhushan' in 2021 ?
(1) Jai Bhagwan Goyal

(2) Virendra Singh

(3) Tarlochan Singh

(4) Mukesh Singh

83. Identify the text/texts, in which the

reference of Thanesar is found :
(1) Harshcharit

(i) Travelogue of Yuvan Chang
(i11) Kadambari

(iv) Karpur Manjari

Choose the correct code :

(1) Only (i)

(2) (1) and (i1)

(3) (1), (i1) and (iii)

4) (1), (i), (iii) and (iv)



84.

Freifciga & @ 68 T4 &1 Sg™
W oI °

SE| ITM WA
(1) T —  SE
(2) F=r — T W e
(3) AHTST — T?lmﬁﬁaﬁr
qatrear
(4) 2 — A @ v

85. f=iiciiga & @ fhed do@ w

BRI Ie= AR & g g
% &0 H B o (e ?

(1) s g5 T
(2) SIR<H To FHo Hibdl
(3) Site" THo THo M
(4) SIReq G e @i

‘FIOTETg 39 Y9 @ AR S

(1) eRaen T § WA TS @
T H &g

2) IR e @ I
JeEe 4 fadE "eEdr $eN
F 7

(3) ol WARked  FhE @)
ST JEEe # o Ted qeN
F &g

@) =l W F g @ o &
QUUT &I Medfed FHH &g

Level-3/316
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84.

[A]

Origin of the which of the following
rivers is not correctly matched ?

River Origin Site
(1) Saraswati  — Dangushai
(2) Indori — Mewat hills
(3) Markanda — Sivalik hills
(4) Tangdi — Morni hills

85. Who among the following did not

serve ‘as the Chief Justice of the
Punjab and Haryana High Court ?

(1) Justice Mukund Mudgal
(2) Justice A. K. Sikri
(3) Justice M. S. Jain

(4) Justice Sanjay Kishan Kaul

'Pran Vayu Devata Pension Scheme'
is aimed to :

(1) Conserve older trees in Haryana
State

(2) Provide financial assistance to
the non-government doctors in
their old age

(3) Provide economic relief to the
non-government paramedical

staff in their old age

(4) Encourage plantation of Tulsi
and Giloya in urban households

P.T.O.



[A]

81.

frticifee eRamom & oot @
feheeh e 98 T Ted g ger ?

(1) dto THo Tkl

(2) TmIG Y &

(3) So THo &P

(4) 9ER To THo X

Recll-T8 Sl HReR & S
ghaen & weaiag fEsr as/ehEie
8 7 9 Jfafad § § dH-a1 Tad
g7

(1) e — Yoad STEnfies &

(2) [WE — AR Ry &8
(3) TSl — WU Fasr &

(4) IMEX — S99 a9 &

89. BRAMM di {aT MERY oY+, fhT W

A H AR A A e
H TR HA B

ooooooooooo

ORE

(2) rgafd

(3) "E

(4) 9 fagqm |9

siar & Reciedl aRn el Uit
2021 7 Sfid T HAT T©@F ¢ -

(1) 04
(3) 08

(2) 06
) 19

[22]

81.

Who among the following Governors
of Haryana died while in the office ?

(1) B. N. Chakraborty
(2) Ranjit Singh Narula
(3) J. L. Hathi

(4) Sardar H. S. Brar

88. Which of the following is not true

89. The

about the proposed investment region/

industrial area under Delhi-Mumbai

industrial corridor in Haryana ?

(1) Faridabad — Palwal Industrial

area

(2)' Rewari — Hisar investment
region

(3) Kundli — Sonipat investment
region

(4) Manesar — Bawal investment

region
Haryana  Public  Service
Commission presents its annual

report of the work done by the
commission to the :

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

90. The total number of medals won by

the athletes of Haryana in the Tokyo
Paralympics 2021 are :

(1) 04 (2) 06
(3) 08 ) 19

Level-3/316
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[A]

M-IV (PART -1IV)
WA fas (CHEMISTRY)

3 : Rl 797 % Gov &7 % [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

I SEUSINEH FNEE B B
gy ik e W W

EEgEeig~ ST §, 98
frefoiea § 9 69 TR &1 afdfsean
g7

(1) FRRITEE! AMeHeh SATishaT
(2) TRl AN SAIhAT

(3) FRAITENE! HferedTqs Afishan
(4) TREHEE! gfereras Ak

92. =G el & 68 g SR

e 78 & 7
(1) Nb 3 Os

() Zr AT Hf

(3) Pd AR Pt

(4) Mo IR W

Level-3/316

9l1.

92.

The reaction of benzenediazonium

chloride with phenol to give
p-hydroxy azobenzene is which of

the following type of reaction ?
(1) Electrophilic addition reaction

(2) Nucleophilic addition reaction

(3) Electrophilic substitution
reaction
(4) Nucleophilic substitution

reaction

Which of the following pair of

elements does not have same size ?

(1) Nb and Os

(2) Zr and Hf

(3) Pd and Pt

(4) Mo and W



[A] [24]

93. d9 3—;||$§|63|'§|i¢3€|33 SnCl, AR 93. When 3-nitrobenzaldehyde reacts
HCl § ik & 8, a9 SdR with  SnCl, and HCI then the
g product is :
(1) 3-TEgeE Twhieid (1) 3-nitrobenzyl alcohol
(2) 3-UFFIENT Teehleied (2) 3-aminobenzyl alcohol
(3) 3-UF SiceeTEe (3) 3-4mino benzaldehyde

(4) 3-TEgT fore RAES (#) 3-nitro benzyl chloride

94. WITSiie GUAMIGH & [T TUIH 94. Freundlich adsorption isotherm is

BT I o o ® 7 expressed as equation :
(1) Z=kp!n (1) Z=kp!n
X X
2) X =P 2) X =P
m m
3) 2= kpr 3) 2= kpr
X X
@) Z=kp!" @) Z=kp!
m m

Level-3/316



95.

97. Eu I

SRR SST AR Jo dlo
THIT & SuRAfd H S 9@ Be
A 7, I SR ©

(1) -5 AEFRICH

(2) 1,2-SEAH! Ao
(3) ST HERAERE

(4) sEr S=iE

96. WIS (X & THAS ©

(1) 1, 3-eeEA

(2) 2-5R -1, 3 -FITEEA

(3) 2- AR 1, 3 - ST

(4) FYH

W;@ Hae H A gD
(1) 4f76s>

(2) 4175d"6s*
(3) 4f76s°

(4) 4f°6s>

Level-3/316
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95.

[A]

When
bromine in presence of heat and

UV light, the product is :

cyclohexene reacts with

(1) 3-Bromo Cyclohexene

(2) 1, 2-Dibromo Cyclohexane

(3) Bromo Cyclohexane

(4) Bromo Benzene

96. 'The monomer of natural rubber is :

(1) 1, 3-butadiene

(2) 2- chloro -1, 3 - butadiene

(3) 2- methyl - 1, 3 - butadiene

(4) Chloroprene

97. Outer electronic configuration of Eu

in ground state is :
(1) 4f76s>

(2) 4775d'6s>
(3) 4176s"

(4) 4f°6s>



[A]

[

98.

™ (aq) + MnOj (aq) + H,0(l) = I,(s)
+MnO,(s)+OH (aq)  3TRAIHT
ueEs efufear § 17, Mno,” @R
H,O% Tl Hiee SAThar & s
g

(1) 3,5,4

(2) 6,1,2

(3) 6,2, 4

(4) 4,3,4

99. UGHNEH & O #H H g5 Al 0,

® 9T F AR MHO @ i
&9 fhar o B 7

(1) FeSiO,
(2) Na,AlF,
(3) Al(OH);

(4) CaO

o-BEH Wed AR Ueeere! @
AEEE oEH SeRe d Wd: 999

gma—gsmqﬁaﬁaﬁﬁﬁ%ﬁ

(1) BRI SR
(2) S=MET HE
(3) Ul FETT
(4) Vi go=

Level-3/316
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98.

The coefficient of I°, MnO, and
H,Oin the redox reaction :

I (aq)+MnOj (aq) + H,O0(l) = I, (s)
+ MnO,(s)+ OH (aq) the

balance form respectively are :

in

(1) 3,5,4
2) 6,1,2
3) 6,2,4
4) 4,34

99. In the metallurgy of Aluminium,

what is mixed with purified Al,O;
to lower the melting point of the

mixture ?

(1) FeSiOs

(2) Na;AlF

(3) Al(OH),

(4) CaO

The self - condensation of aromatic
aldehydes with no o - hydrogen in

presence of cyanide ion as catalyst to
o - hydroxy ketone is called :

(1) Canizzaro's reaction
(2) Benzoin condensation
(3) Perkin condensation

(4) Stobbe condensation



[27] [A]

101. f=foifag & @ HF-AT q9e AN ar 101. Which of the following group directs
TAFE el Bl S99 aad B Hel the incoming electrophile at meta
Refr o FRRG #ar & ? position in benzene ring ?

(2) —NHCOCH, (2) —NHCOCH,
(3) —OCH, (3) —OCH,
(4) —COR (4) —COR

102. [Co (NH)sS0,] Br AR 102. [Co (NH,)sS0,]Br and
[Co(NH;)sBr] SO, T8 &R & [Co(NH,)sBr] SO, shows which
qHETd Yaid B § 7 type of isomerism ?

(1) AT FHEGII (1) Ionization isomerism
(2) IUHEHIANT FHETE (2) Coordination isomerism
(3) SEFT HETEar (3) Linkage isomerism

(4) gaor qHEIgqdn (4) Optical isomerism

103. FHfitag & 9 H-AT T FTcehloi 103. Which of the following elements is a
H GEH T 7 member of Chalcogens ?

(1) Se (1) Se
(2) Br (2) Br
3) As 3) As
4) Ge 4) Ge

Level-3/316 P.T.O.



[A]

104. f=fafgd & @ 9-91 9 FHEE

SRS FART & 7
(1) co
@) co,
3) CH,

4) 0,

frifafad aReds § dendt s -

H,(g)—2H(g)

1) 0
(2) T9F & 8
(3) ol ©
(4) gedt ®

[
[=}]

qeaegs foiehst § ?
(1) H,S0,
2) H,S0,
(3) H,S,04

4 H,S,0,

Level-3/316

ey & [rfaraa fee offear o |
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104.

106.

Which of the following gases forms

carboxyhaemoglobin ?
(1) co

(2) €O,

(3) CH,

4 0,

Predict-the ‘entropy in the following

change :

H,(g)—2H(g)

(1) 0
(2) Remains same

(3) Increases

(4) Decreases

Which of the following oxoacids of

sulphur has peroxide linkage ?
(1) H,S0,
(2) H,50,
(3) H,S,04

4 H,S,0,



[29] [A]

107. GﬁilTﬂ:ﬂ-‘?ﬁ i GﬁaT‘ZI g 107. Bactericidal antibiotic is :
(1) TR (1) Erythromycin
(2) ST (2) Ofloxacin
(3) STEIEHRI (3) Tetracycline
(4) FRATBITDIA (4) Chloramphenicol
108. 1, 2—313@'@3@? AU S A R | S 108. The number of NMR signals
NMR RF=at #t §e ® - produced by 1, 2— Dichloropropane
are :
(1) 6 (1) 6
(2) 5 (2) 5
3) 4 3) 4
“4) 3 4 3
109. MHRIRIT Xe & HE-AT ARE 109. Which of the following compounds
i & 7 of Xe is square pyramidal ?
(1) XeO, (1) XeO,
(2) XeOF, (2) XeOF,
(3) XeF, (3) XeF,
(4) XeF, (4) XeF,

Level-3/316 P.T.O.



[A]

110, S 3N @ SuRefy, fr=fafed & @

(=]
[

fras A1 ST T A B 7

(1) K,Cr,0;,

(2) KMnO,

(3) Pb(CH,COO0),

(4) Na,[Fe(CN)sNO]

99 % UMl ¥ fR9 oM & o™ |
ARSI BT § °

(1) F~
2) SO,>"
(3) NO;~

4 cCl”

Level-3/316
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110.

Presence of S jon gives violet

colour with which of the following ?

(1) K,Cro,

(2) KMnO,

(3) Pb(CH,COO0),

(4) "Na,|[Fe(CN)s NO]

Excess of which ion in drinking

water causes methemoglobinemia ?
(1) F~

2) S0,>"

(3) NOy

4 cCl™



[31] [A]

112. S99 S B g - 1A @ - 10 112. Match the List - I of cubic lattice
T T A (d) X FIfteeH 9] (a) and List - IT giving relation between
& 7 G 9 ‘tjﬁﬁﬁf T - spacing (d) and cell edge (a) :

-1 -1 List - I List - I
SIKE ddX a B 7 Lattice Relation
T between d and a
2
2 _a
M bee @ d= 1QOF ® =7
V3
3 _avo
) fcc (b) d :§ (IT) fcc (b) d >
) a
() & T (¢) d = a (IIT) simple cube (c) d = 5

Code :
%c -

I nm 11
I I II

1 b
1 @ O (© M @ ® (©

(2) ) (b)) (a) 2) (© (b)) (a)
3 ® (@ (o 3 O @ (@©
@ ® © (@ @ ® © @

Level-3/316 P.T.O.



[A]

113. Fyfomad & | SiF-a1 T8 1 8 ?

(1) a9E™
(2) TR Hel
(3) EFUN
(4) TFIH
H,, Pd/BaSO,
114.
R-C=C—-R —

Na/lig NH;

SWiga ik #§ AR B.&HAT: 8 ¢

(1) 99987 Yeahie ol awae Teabie

(2) foer T SR ferge Qe

(3) T9IE Ui o fquer Ui

(4) fawer TepM oI |HU Qb

Level-3/316
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113.

Which of the following is an

intensive property ?

(1) Temperature

(2) Internal energy

(3) Mass
(4) Volume
H,, Pd/BaSO,
R-C=C-R —
Nallig NHs

In the above reaction A and B are

respectively :

(1) cis-alkene and cis-alkene

(2) trans-alkene and trans-alkene

(3) cis-alkene and trans-alkene

(4) trans-alkene and cis-alkene



115.

[
[

Re fEas WX el FfRerd AE arell
M @ W SES d9EH & FHEN
BT § I8 HU frArared § @ R
g & 8 7

(1) e &1 |
(2) = ®
3) g Fram
(4) e e

Tl - 1 &0 s @ g - I 9
SGIREICTI R

-1 @I

(A) NHy () &l

(i) Preria Rufea
(iii) T- STl

(iv) I8 &

(B) CIF,
©) S0,
(D) SF,

% -
(a)
(i)

B) (©)
(D

2)

i) (il

(iv) (i) (i)
3)

4)

(i) @@ ()

() (i) (v)

Level-3/316
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115.

[A]

At constant volume, pressure of a
fixed amount of a gas varies directly
with the temperature. It is the
statement of which of the following
laws ?

(1) Boyle's law

(2) Charles law

(3) Gay-Lussac's law

(4) Avogadro law

Match. the geometry of following

form List - I with List - IT :

List-1I  List-1I
(A) NH; (1) See-saw
(B) CIF; (ii) Trigonal pyramidal
(C) SO, (i11) T- shape

(D) SF, (iv) Bent (V-Shaped)
Code :

(a)
(i)

B) (©)

(D) (i) (i)
(2)
3)

4)

(iv) (i) (i)

i) @  (@{v)

() (@) (@1v)



[A]

1117.

(=]
[

[
ol

Refed & Thah ©

(1) I 3R wiHfseEs

(2) w=dH

(3) TR TrEehi SR Afh I

(4) RRA g AR R
ST

2NO(g)+Cl,(g) = 2NOCI(g) &
o= K, F K, B A Heg 8

(1) K,=K.(RT)
2) K, =K.(RT)?
3) K,=K./RT

4) K, =K /(RT)

fopel TXATY] § SURY & geiagiAl bl
Tl 2, 98 P9 fofeied § 4@
fra forsa/frag @1 B 7

(1) IrSelt oTgaet fasia

(2) Apars 9

(3) &3 & AfHaH Sgehal Al [

4) (n+ 1) |

Level-3/316

[34]

117.

The monomers of glyptal are :
(1) Phenol and formaldehyde
(2) Styrene

(3) Ethylene glycol and phthalic
acid

(4) Ethylene glycol and terephthalic
acid

For the equilibrium
2NO(g)+Cly(g) = 2NOCI(g) K,

is related to K, by the relation :
(D
2)
3)
4

K, =K.(RT)
K, =K.(RT)’
K,=K./RT

2
K, =K, /(RT)

No

have the same set of four quantum

two electrons in an atom can

numbers. This statement is which of

the following principle/rule ?
(1) Pauli Exclusion Principle
(2) Afbau Principle

(3) Hund's rule
multiplicity

of maximum

(4) (n+ 1) rule



[

[

20. TEFN EHAH, AEFARFN AR H,H

e T HA: 3920, — 3800 AR
241 kimol™ B OEFAeHH  #

EESITIHI & HT B ¢

(1) =121 kJmol™
(2) 121 kJmol™
(3) —242 kJmol™
(4) 242 kimol™"

o

RIS Bl SaMM faaad # 99
g ol oFitY FREsS & 9™
AT & &I IUE ©

ORUGKIE

(2) BN BRGIFAAUH

(3) Tl

(4) USTeRIE=IA

IR W HEROERIRES &N
dofcserze oa wX B AR ©

(1) e SHAf¥ishar

(2) TMEHE-HE AT
(3) Zer ST

(4) HVZ stffseam

Level-3/316

[A]

120. The enthalpy of combustion of

cyclohexane, cyclohexene and H,
are respectively —3920, —3800 and
241 kJmol™'. The heat of

hydrogenation of cyclohexene is :
(1) =121 kJmol™

(2) 121 kJmol™

(3) —242 kJmol™

(4) 242 kJmol™

The main product of the reduction of
nitrobenzene in neutral solution with

zinc dust and ammonium chloride is :
(1) Aniline

(2) Phenyl hydroxylamine

(3) Azobenzene

(4) Azoxybenzene

The reaction to obtain benzaldehyde

from toluene by chromylchloride is :
(1) Gatterman reaction

(2) Gatterman-koch reaction

(3) Etard reaction

(4) HVZ reaction



[A]

123. f[fofgd fe o @1 IS

[
N

e wegdl & 7
(1) Li
(2) Na
3) K

(4) Rb

gEfte  UARE RCONH,,  3400-
3500 cm”' & W= A AT ATS
yeRfd & 8, PO, ¥ IfEd B
T T T AR SEgiite B

(1) 3500 cm™
(2) 3250 cm™
(3) 2256 cm™

(4) 1650 cm™!

Level-3/316

[36]

123.

Iodide of which of the following is

most covalent ?
(1) Li
(2) Na
3) K

(4) RD

Primary amide RCONH ,shows two

absorption bonds between 3400-

3500 cm™! on treatment with P,0;,

the compound formed absorbs at :
(1) 3500 cm™
(2) 3250 cm™'
(3) 2256 cm™

(4) 1650 cm™!



[37] [A]

125. C.HsCH,on B, KON 5 28 ¢ 125. C.H,CH,0H—HBr 4 KCN .p A
H;0 H,0*
'C' in the above reaction sequence
SUE Affhar 9 § ‘C7 R is :
(D SR (1) Benzoic acid
2) RN (2) Phenyl ethanoic acid
(3) BIFET TR THIM

(3) Phenyl ethyl amine

4) FRA-1, 6-STR3RH 3T (4) Hexane -1, 6 - dioic acid

126. CH;COOH %1 pKa 4.75 g oW 126. The pKa for CH;COOH is 4.75.
gifssy  Ufee AR ofgfeds o @ Hence mixture of sodium acetate and
TN g6 faeRE g9M # O Rear S acetic acid can be used for preparing
Tepdl © 39 pH R WE A ® ¢ buffer solution whose pH is in the

range :

(1) 08 4.75 (1) 0to4.75
(2) 4759 14 (2) 4.75 to 14
(3) 37589 5.75 (3) 3.75t05.75
4) 19 14 4) 1to 14

Level-3/316 P.T.O.



[A]

1217.

Sy? Afuien ¥ frefoRaq Al @
AR @1 @&l # ©
(1) CH;—CH,—CH, —CH,Br <
(CH,), — CHCH ,Br <
CH; = CH, —CH—CH,
Br
< (CH;);C — Br
(2) (CH;);C —Br<
CH,—-CH, - CH,—CH,Br <
CH; = CH, —CH—CH,
Br
<(CH3), —CH - GH,Br
(3) CHy;-CH,—-CH,—CH,~Br>
(CH,)5CH.—.CH ,Br >

Br

(CH,),C — Br

Br

Level-3/316

[38]

127. The correct order of reactivity of

following compounds in Sy? reaction

1S
(1) CH;-CH,-CH,-CH,Br <
(CH4), —CHCH ,Br <
CH3—CH2—C|‘H—CH3
Br
<(CH;);C—Br
(2) . (CH;);C—-Br<
CH,-CH,-CH,—-CH,Br <
CH3—CH2—C|‘H—CH3
Br
<(CH;), —CH - CH,Br
(3) CHy-CH,-CH,—-CH, — Br>
(CH,),CH —CH,Br >

Br
(CH;),C —Br

Br
(CH;);—C —Br



[39] [A]

128. ’FEP?R:I Y S| & Ak g aar 128. Glucose on reaction with bromine
g water gives :
(D) n-gFa (1) n-hexane
(2) VBREH A (2) Saccharic acid
(3) IR ST (3) Gluconic acid
(4) S (4) Bromo glucose

129. 0.IM Ba(NO;), o & fou are 129. The Van't Hoff factor for 0.1M
% oTi% 2.74 &, a9 fEieH @ AET Ba(NO,), solution is 2.74, then
T degree of dissociation is :

(1) 100% (2) 91.3% (1) 100% (2) 91.3%
3) 87% 4) 74% 3) 87% 4) 74%

130. T% @H I HA & pH H IO 130. Calculate pH of a weak acid HA, if
FivT At 1 M e & fqgeq @i the degree of dissociation of 1M
=T 10% R solution being 10% :

(H 1 2) 2 (H 1 2) 2
(3)3 (4). 4 (3)3 4) 4

13l. T4 Z = 120 & ©&F S&d ae & 131. The element Z = 120 would be

e e & BT =fey ? placed in which family of periodic
table ?

ey RGN (1) Halogen family

(2) & oy (2) Alkali metals

(3) &N qa1 81g (3) Alkaline earth metals

(4) S T (4) Noble gases

Level-3/316 P.T.O.



[A] [40]

132. U9 Hife & Tp AR B 75% BN 132. 75% of a reaction of the first order

[

[

[

q 32 fFe @@, 39 ofEr 8 H fohae
g T 7

(1) 4 e (2) 8 e
(3) 16 fame (4) 32 i e

WEAT & KMnO, % T ST
qfeE ‘A’ @ & BrEE IUPAC 9
2

(1) et

(2) IifceeEe

(3) 2-Biel TEIEH T
(4) S=igH o=

frefefeg & @ @9-@r g
qHEgaan ke ?

(1) 1-=&=

(2) o=

(3) 1-BFa JdE
(4) 2-Af-2-=8H

BRI H HF-A1 STUEY A
il & ® ?

(1) 9T B

Level-3/316

o

was completed in 32 minutes, what

is the time for its half completion ?
(1) 4 minutes  (2) 8 minutes

(3) 16 minutes (4) 32 minutes

Styrene on oxidation with KMnO,
gives compound 'A’', its IUPAC

name is ;

(1) -Phenol

(2) .Benzaldehyde

(3) 2-Phenyl ethanoic acid

(4) Benzoic acid

134. Which of the following compounds

will show geometrical isomerism ?
(1) 1- Butene

(2) Propene

(3) 1 - Phenyl propene

(4) 2 - Methyl - 2 - butene

35. Which allotropic form of phosphorus

shows chemiluminescence ?
(1) White phosphorus

(2) Red phosphorus

(3) a- Black phosphorus
(4) B - Black phosphorus



136.

[

RISl § Ol AR S SR e
R L B TH A SR W T
FicH "e J U Bl Bl B b
A F AH W BN W e §
q FI-A1 G g& © 7

() J=L+S$
) J=L-S§
3)J=S-L

@) J=.LS

Cd | CdCl,.5H,0 (8F) I AgCl(s)| Ag

9 & EMF 25°C@X 0.7 Volt &

g6 [T Yo FHoll qRae @ ¢

(1) 135.1kJ
(2) —135.1KkJ
(3) 67.55kJ

(4) —67.55kJ

Level-3/316

[A]
In the Ilanthanides the spin
contribution § and orbital contribution
L couple together to give new
quantum number J. Which of the

following relation is correct when the

shell is more than half full ?

(1) J=L%S
() J=L-S
(3)J=S-L

@) J=.L.S

The EMF of the cell :
Cd|CdCh.5H,0 (saturated) I AgCi(s)| Ag

is 0.7 Volt at 25°C . The free energy

change for it is :

(1) 135.1KJ
(2) ~135.1KkJ
(3) 67.55k]
4) —67.55k]



[A]

[

38.

[
(-]

CH,-CH =CH - CH, — CH,CN

(1) AIH (iBu)>
(2) HH0

SURed STk 1 SaE ©

(1) cH,-CH,-CH,-CH,-CH, -CN
(2) cH,-cH,-CH,~CH,~CH, —CH,-NH,
(3) CH;-CH=CH-CH, —CH,-CHO

4) cH,-CcH=CH-CH, - CH,-COOH

2N,05(g) > 4NO,(g) +0,(g) =9
affer & fom oQma - A
g,

6.79%10* mol L "min~" aq

NO, & JUET & & &

(1) 6.79x10™*mol L' min™"
(2) 2.72x10 mol L' min™"
(3) 1.36x10mol L' min™"

(4) 1.69x10™*mol L' min™

Level-3/316

[42]

138.

CH,—-CH =CH —CH, - CH,CN

(1) AIH (iBu)>
(2) HH0

The product of the above reaction

is :

(1) cH,-CH,-CH,-CH,-CH, -CN
(2) cHy=CH,“CH, - CH,~CH, —CH,-NH,
(3). CHy—CH=CH-CH, —~CH,~CHO

4) cH,-CH=CH-CH,-CH,-COOH

The average rate for the reaction

2N,05(g) = 4NO,(g) + 0,(g) s

6.79%10 " mol L' min™" , then the

rate of production of NO,is :

(1) 6.79%10™*mol L' min™
(2) 2.72x10 mol L' min™"
(3) 1.36x10° mol L™ min™"

4) 1.69%10*mol L' min™"



140. fquer, fquer- 2, 4-3OEREH QN
THIHTT F 3T B
(1) dad fauer-3, 4-s=ARm
GIEESIE R
(2) Fad GHIE-3, 4-SEARKT
GIEESIE R

[

[

(3) SWEd IA IAE  TEX TET
g
(4) TEFARFIN

59 AT TAEE B 5 S § agd
U Ty USSR @ SRR
fpar ST &, 99 I8 YFeie o aRafd
& A B 39 orflear § wegadi R

(1) g

(2) BN HIEEEA

(3) B HERTE

(4) JH I
2C6H5N02 Zn/ NaOH
SO SAHRaT § X B
(1) CcHsNH,

X

(2) C;H;NHOH

Level-3/316

[43]

[A]

The thermal cyclization of trans,

trans- 2, 4 - Hexadiene gives :

(1) Only trans - 3, 4 - Dimethyl
Cyclobutene

(2) Only cis - 3, 4 - Dimethyl
Cyclobutene

(3) Both the above products in equal

amount

(4) Cyelohexene

When an aryl halide is treated with
the very strong basic amide ion in
liquid ammonia, it is converted into
The

reaction is :

aniline. intermediate in the

(1) Benzyne

(2) Phenyl carbocation
(3) Phenyl carbanion
(4) Free radical

Zn/ NaOH

2C4HNO, X

X in the above reaction is :
(1) C¢HsNH,

(2) C¢HsNHOH

(3) C¢HsNH — NH —CoH s
4) CcHsN =N —-C¢Hj,



[A]

143. fy=feied § & e faeie @ w4 @

[
NeS

[
1

RBC &l TR0 | gl o HiguierEt
% FAS Bl © 7

(1) fafE K
(2) [qaf= E
(3) faef= By,
(4) fafm B,

CH,-~CH=CH-C=C-CH,
Afs # [UPAC 9 R :

(1) BFF-4-37-2-31

(2) 1, 4-SEARK Fe-3-3-1-31%A
(3) BFF-2-39-4-3TH

(4) TSt ddi=

Rt T@ W iR @t F1 3R
27°C W = & TR & ReR

AT YT STHGRAT @l ST & S
AN T ?

2C.Hy (1) +150,(g) = 12C0,(g)
+6H,0(])

(1) —7.48kJ
(2) 7.48KJ
(3) 0.673kJ

(4) —0.673 kJ

Level-3/316

[44]

143. Deficiency of which of the following

ot

ot

vitamins causes increased fragility of

RBC's and muscular weakness ?
(1) Vitamin K

(2) Vitamin E

(3) VitaminB,,

(4) Vitamin B,

The IUPACname of the compound :
CH; -CH=CH-C=C-CH; is:
(1) Hexa -4 -ene-2-yne

(2) 1, 4 - Dimethyl but-3-ene-1-yne
(3) Hexa -2-ene-4-yne

(4) Propargyl propene

What is the difference between heat
of reaction of constant pressure and
that of constant volume for the

reaction given below at 27°C ?

2C.H,(1)+150,(g) = 12C0,(g)
+6H,0(])

(1) —7.48kJ
(2) 7.48KJ
(3) 0.673kJ

(4) —0.673 kJ



[

frfoia erfwfear

3Cl, +6NaOH — NaClO, +5NaCl+3H,0

T g5 d@ S SOdE ANl & ael
T ot B B -

(1) Na ) Cl
3) 0 4 H
e eRgEET ® ARRE e AR

g OCHgRSE I & Y A & |
FEI AR I B © 7

(1) T

(2) Twhie

(3) Tz

(4) ol

A dPgd AYHeH G PMA @
TRAHT BE TGS I ol & 3R

Th O oTRigd Bt FRES @l
Jofigs Ser T &l & qd ¥ A

UX ST @le I STgurd RN
(1) 3:1 2) 2:1
3)1:1 4) 3:2

Level-3/316

[45]

146.

[A]

In the reaction :

3Cl, +6NaOH — NaClO, +5NaCl +3H,0

the element which loses as well as
gains electrons is :

(1) Na (2) CI

3) 0 4) H

Which~hydrocarbon on warming
with “mercuric sulphate and dilute
acid forms

sulphuric carbonyl

compounds ?
(1) Alkane
(2) Alkene
(3) Alkyne

(4) Benzene

Two  electrolytic  cells, one
containing acidified ferrous chloride
and another acidified ferric chloride
are connected in series. The ratio of
iron deposited at cathodes in the two

cells will be :
(1) 3:1 2) 2:1

(3) 1:1 4) 3:2



[A] [46]

149. C,% Sl ¥ fadg 30 2 149. The double bond in C, molecule
consist of :
(1) 3 o 99 (1) both obonds
(2) 3T nEg (2) both m bonds
(3) @ o AR wF Y (3) one ¢ and one ® bond
4) IR § Eﬁ?ﬁ T (4) None of the above
150. GehHO ﬂ'l@aﬁ H HH-AT Nl D 150. Which property of Transition metals
A a9 % fo1Q ITRErl © 7 is responsible for complex formation ?
(1) EsHHT g A @ STHR & (1) Large size of transition metal
EEl EiEll cation
() [ oifediee ot Jeiid (2) Shows several oxidation states
Tl
(3) Absence of vacant (n-1)d
(3) R (n-1)d Ferehi bl TR orbitals
(4) W +2  SAfiEEr SERn & (4) Due to stable +2 oxidation state
T

Level-3/316
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R @& @
IR TF F T GHE B X 3§l SR IR T H
Sl

N
6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 390 OMR I TF T & ik H T IT AFYI

J
. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | I To@ o W o1 (ThE TYS) BTN
s &1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU U =R fowed § § S fagcg & T OMR ST % W #ad 06 99 & & T TE & a9 @Re 0

¥ T TP IR IX Sifhd B B 9% 39 Sea Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

orepelt giafe #X 6 59 I T B AT T MW T I W FHE AF NN F_FMC, el ST TS X T A
i wm & sfaRed o= 71 foEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhereelse except in the specified space in the
Answer Sheet.)

- T4 I T B ANGEF T B, Fis B A Rk § (I97-gRam o R % § FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question /Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ R T wEie B Tl 9 ade A ewe) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR W iR TeuN gd ofoRe Rl ser @ argg-are, gd o swiad s & afr,
JoR, MeEA B, gosli-es SUBT A Rl of J & &/l %l & S a1 IWN HA @ A 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

e B U8 9N W uE ot STl Jas i (A o) iR wgAM U R@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THAEE B A OTAN S [T Pl TRl YT WM 7 B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T [0 [ T sWER G W ASRT sERR Ry faer erwd) wlen g T8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e R a1 ¥ A e f 3ER I i e e’ & R T HET &
A AT STCT OMR SR O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W SF @ ] % @ @@ Aer § & 0 A el @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F TR & U, TRl feRlE & & T ukk/Ren-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T & daa S » e wd e @ R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR T =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE qO BN W, TRl F/2 Bled § [ S T H-THAEE B oA A A1 AR A0 6y 39 9e-gRAH B A

S e R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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